    (w4y  Jrmbw  0b0  0hl0bd  0yqynwlstd  Fd9l  S0tmy=w  Swnwlsw  Swlwp    1:1                                                                                                                                                                      


  0ml4w  Jwkm9  Fwby=  0xy4m                                                                                                                                                                                                                                                          


  ty0nym0  Jtwlcb  Jwkl  Nnyrkdtmw  Jwklk  L9  Nbzlkb  0hl0l  Nnydwm    1:2                                                                                                                                                                            


  Fwnrbysmw  Jwkbwxd  fm9w  Jwktwnmyhd  0db9  0b0  0hl0  Mdq  Nnydh9w    1:3                                                                                                                                                                      


  0xy4m  (w4y  Jrmbd  Jwkrbsd                                                                                                                                                                                                                                                          


  0hl0d  Yhwbybx  Yx0  Jwktwybg  ryg  Nny9dy    1:4                                                                                                                                                                                                                      


  0xwrbw  fyxb  P0  f0  Jwktwl  twh  dwxlb  fmb  0wh  f  Jtwnrbsmd  L=m    1:5                                                                                                                                                                    


  Jwktl=m  Jwktnyb  Nywh  0nky0  Jwtn0  Ny9dy  Jwtn0  P0  0ryr4  0sypbw  04dwqd                                                                                                                                                                    


  0xwrd  Fwdxbw  0br  0nclw0b  Flm  Jwtlbqd  Jrmbw  Jwtymdt0  Nb  Jwtn0w    1:6                                                                                                                                                                  


  04dwqd                                                                                                                                                                                                                                                                                              


  0y0k0bw  0ynwdqmb  ty0d  0nmyhm  Jwhlkl  Fwmd  Jwtywhw    1:7                                                                                                                                                                                              


  rt0  Lkb  f0  0y0k0bw  0ynwdqmb  dwxlb  f  Jrmd  htlm  t9mt40  ryg  Jwknm    1:8                                                                                                                                                                


  Mdm  Jwkyl9  rm0nd  Qntsn  fd  0nky0  t9mt40  0hl0bd  Jwktwnmyh                                                                                                                                                                                          


  0hl0  twl  Jwtynpt0  0nky0w  Jwktwl  Nl  0wh  0nl9m  0ny0  Ny9t4m  ryg  Jwnh    1:9                                                                                                                                                              


  0ryr4w  0yx  0hl0l  Jwxlptd  0rktp  tlxd  Nm                                                                                                                                                                                                                              


  Nl  0cpm  whd  Fym  tyb  Nm  Myq0d  wh  (w4yl  0ym4  Nm  hrbl  Jwtyksm  dk    1:10                                                                                                                                                                  


  F0d  0zgwr  Nm                                                                                                                                                                                                                                                                                


  0wh  ty0qyrs  0wh  f  Jwktwld  Nnl9md  Yx0  Jwtn0  Ny9dy  Jwtn0w    2:1                                                                                                                                                                                


  0br  0nwg0b  Nydyhw  Swpylypb  Jwty9dyd  Ky0  Nnr9=c0w  Nn4x  Mdqwl  f0    2:2                                                                                                                                                                  


  0xy4md  htrbs  Jhl0d  0yshrpb  Jwkm9  Nllm                                                                                                                                                                                                                                


  fknb  fp0  Fwpn=  Nm  fp0  Fwy9=  Nm  0wh  f  ryg  J0ywb    2:3                                                                                                                                                                                        


  04n0  Ynbld  Ky0  f  Nnyllmm  0nkh  htrbs  Nmyhttd  0hl0l  Nnyqbd  0m  Ky0  f0    2:4                                                                                                                                                        


  Jtwbl  0qbd  wh  0hl0l  f0  rp4n                                                                                                                                                                                                                                                  


  Fwn9yd  Fl9b  fw  Jwtn0  Ny9dyd  Ky0  fd4  flmmb  Nx4xt0  Mwtmm  ryg  fp0    2:5                                                                                                                                                        


  dhs  0hl0                                                                                                                                                                                                                                                                                          


  Nywh  Nyxk4m  dk  0nrx0  Nm  fw  Jwknm  f  04nynb  Nm  0xbw4  Ny9b  fw    2:6                                                                                                                                                                      


  0xy4md  0xyl4  Ky0  0whml  0ryqy                                                                                                                                                                                                                                                  


  hynb  0bbxmd  Fynybrm  Ky0w  0kykm  Jwktnyb  Nywh  f0    2:7                                                                                                                                                                                                


  P0  f0  0hl0d  htrbs  dwxlb  f  Jwkl  Ltml  Nnyxwsmw  Nnybbxm  Nnx  P0  0nkh    2:8                                                                                                                                                            


  Jwtn0  Nybybxd  L=m  N4pn                                                                                                                                                                                                                                                              


  0mmy0bw  0yllb  Nydy0  db9b  Nylm9w  Nywh  Ny0ld  Nyx0  ryg  Jwtn0  Nydh9    2:9                                                                                                                                                                  


  rq0n  f  Jwknm  dx  L9d                                                                                                                                                                                                                                                                  


  fdw  ty0n0kw  ty0ykd  0hl0d  htrbs  Jwkl  Jzrk0  0nky0  0hl0w  Nydhs  Jwtn0    2:10                                                                                                                                                          


  0nmyhm  Jwhlk  twl  Nywh  Ny4r                                                                                                                                                                                                                                                      


  Nywh  Ny9b  Yhwnb  Nm  0b0  Ky0  Jwknm  dx  dx  Nmd  Jwtn0  Ny9dyd  0nky0    2:11                                                                                                                                                                    


  Jwkl  Nnydhsmw  Jwkblb  Nywh  Nylmw                                                                                                                                                                                                                                            


  hxbw4lw  htwklml  Jwkrqd  wh  0hl0l  00yd  Ky0  Jwklhtd    2:12                                                                                                                                                                                              


  0wh  f  Nnm  Jwtlbqd  0hl0d  Flmd  0hl0l  ty0nym0  Nnydwm  Nnx  P0  0nh  L=m    2:13                                                                                                                                                          


  0r9tsm  0db9b  Yhw  0hl0d  Flm  ty0ryr4  hyty0d  0nky0  f0  hnwtlbq  04nynbd  Flm  Ky0                                                                                                                                                


  Nynmyhmd  Nyly0b  Jwkb                                                                                                                                                                                                                                                                  


  Nkhd  0xy4m  (w4ybd  Nylh  dwhybd  0hl0d  Fd9l  Jwtymdt0  Yx0  Nyd  Jwtn0    2:14                                                                                                                                                              


  0ydwhy  Nm  Jwnh  P0d  0nky0  Jwktbr4  Ynb  Nm  Jwtn0  P0  Jwtrbys                                                                                                                                                                                          


  f  0hl0lw  wpdr  Nlw  Jwhnmd  0ybnlw  wl=q  0xy4m  (w4y  Jrmld  Jwnh    2:15                                                                                                                                                                        


  04n0  Ynb  Jwhlkl  fbwqs  Nydyb9w  Nyrp4                                                                                                                                                                                                                                  


  Nyd  Y=m  Nbzlkb  Jwhyh=x  wml4ml  Jwxnd  0mm9  M9  Llmnd  Nl  Nylkd    2:16                                                                                                                                                                          


  Frxl  0md9  0zgwr  Jwhyl9                                                                                                                                                                                                                                                            


  ty0rytyw  Nblb  fw  Nyp0b  F94d  0nbz  Jwknm  0mty  Nywh  Nyx0  Nyd  Nnx    2:17                                                                                                                                                                


  00ygs  0bwxb  Jwkyp0  0zxml  N=pxt0                                                                                                                                                                                                                                            


  0n=s  Ynkw9w  Nytrtw  Nbz  0dx  Swlwp  0n0  Jwktwl  F0nd  Nybcw    2:18                                                                                                                                                                                


  (w4y  Jrm  Mdq  Jwtn0  J0  f0  Jrhbw4d  fylkw  Jtwdxw  Jrbs  ryg  wny0    2:19                                                                                                                                                                    


  htyt0mb                                                                                                                                                                                                                                                                                            


  Jtwdxw  Jtxwb4t  ryg  Jwn0  Jwtn0    2:20                                                                                                                                                                                                                                    


  Nydwxlb  Swnt0b  $pml  Nybc  Nnsmx  fd  L=mw    3:1                                                                                                                                                                                                                  


  0xy4md  htrbsb  Nnrd9mw  0hl0d  0n4m4mw  Jwx0  Sw0tmy=l  Jwktwl  rd4nw    3:2                                                                                                                                                                    


  Jwktwnmyh  L9  Jwknm  09bnw  Jwkrr4nd                                                                                                                                                                                                                                        


  wh  0dhld  Jwtn0  Ny9dy  ryg  Jwtn0  Nylh  0nclw0b  hl  (=qtt  Jwknm  $n0  fd    3:3                                                                                                                                                            


  Nnymys                                                                                                                                                                                                                                                                                              


  0nky0  wcl0tml  Nnydyt9d  Jwkl  Jrm0  Nmdq  ryg  Nywh  Jwktwl  dk  P0    3:4                                                                                                                                                                          


  0whd  Jwtn0  Ny9dyd                                                                                                                                                                                                                                                                        


  Jwkysnn  0mldd  Jwktwnmyh  (d0d  trd4d  0md9  tnsmx  f  0n0  P0  0nh  L=m    3:5                                                                                                                                                                  


  0qyrs  Nlm9  0whnw  0nysnm                                                                                                                                                                                                                                                            


  L9w  Jwktwnmyh  L9  Jrbsw  Jwkyd0c  Nm  Sw0tmy=  Jtwl  F0d  Nm  Nyd  04h    3:6                                                                                                                                                                    


  P0d  0nky0  Nyzxml  Jwtn0  Nywsw  Jd9  Lkb  0b=  Nndhw9  Jwktwl  ty0dw  Jwkbwx                                                                                                                                                                    


  Jwkl  Nnx                                                                                                                                                                                                                                                                                          


  Jwktwnmyh  L=m  Nynclw0w  Jtq9  Nyhlk  L9  Nyx0  Jwkb  J0ybt0  0nh  L=m    3:7                                                                                                                                                                      


  Jrmb  Jwmyqtt  Jwtn0  J0  Nnyyx  wh  04hw    3:8                                                                                                                                                                                                                          


  Nnydxd  Fwdx  Lk  L9  0hl0l  Jwkyplx  (rpml  Nnyxk4m  Fydwt  ryg  0dy0    3:9                                                                                                                                                                    


  Jwktl=m                                                                                                                                                                                                                                                                                            


  0m  rwmgnw  Jwkyp0  0zxnd  0mmy0bw  0yllb  P4ktn  ty0ryty  0hl0  Mdqd  f0    3:10                                                                                                                                                              


  Jwktwnmyh  0rysxd                                                                                                                                                                                                                                                                          


  Jwktwl  Nxrw0  cwrtn  0xy4m  (w4y  Jrmw  Jwb0  0hl0  Nyd  wh    3:11                                                                                                                                                                                        


  Nnybxm  Nnxd  0nky0  $nlk  twldw  dx  twl  dxd  Jwkbwx  rtynw  0gsnw    3:12                                                                                                                                                                          


  Jwkl                                                                                                                                                                                                                                                                                                  


  (w4y  Jrmd  htyt0mb  Jwb0  0hl0  Mdq  Fw4ydqb  Ny4r  fd  Jwktwbl  Myqnw    3:13                                                                                                                                                                


  Yhw4ydq  Jwhlk  M9d  0xy4m                                                                                                                                                                                                                                                            


  Nnm  Jwtlbqd  Ky0d  (w4y  Jrmb  Jwkl  Nnyp4ktmw  Jwknm  Nny9b  Yx0  Lykm    4:1                                                                                                                                                                    


  Jwpswt  ty0rytyd  0hl0l  Jwrp4tw  Jwklhtd  Jwkl  fw  Nky0                                                                                                                                                                                                    


  (w4y  Jrmb  Jwkl  Nbhy  0ndqwp  Nyly0  ryg  Jwtn0  Ny9dy    4:2                                                                                                                                                                                                


  Fwynz  Lk  Nm  Nyqyrp  Jwwhtdw  Jwktw4ydq  0hl0d  hnybc  ryg  wnh    4:3                                                                                                                                                                              


  0rqy0bw  Fw4ydqb  hn0m  0nqml  Jwknm  $n0  $n0  (dy  0whnw    4:4                                                                                                                                                                                          


  0hl0l  Ny9dy  fd  Jwnh  0mm9d  0kr4  Ky0  Fgrd  04xb  fw    4:5                                                                                                                                                                                            


  wh  Jrmd  L=m  Fwbc  0dhb  Yhwx0l  $n0  Bl9mlw  rb9ml  Nyxy4m  Jwwht  fw    4:6                                                                                                                                                                  


  Jdhsw  Jwkl  Jrm0  0nbz  Mdq  Nm  P0d  0nky0  Nyhlk  Nylh  L9  09wbt                                                                                                                                                                                        


  Fw4ydql  f0  Fwpn=l  0hl0  Jwkrq  ryg  f    4:7                                                                                                                                                                                                                    


  F4ydq  hxwr  Jwkb  Bhyd  wh  0hl0l  f0  Ml=  04nrbl  0wh  f  Ml=d  Nm  Lykm    4:8                                                                                                                                                              


  0plm  Jwkmwnq  ryg  Jwtn0  Jwkl  Btkml  Jwtyqyns  f  0x0d  Nyd  0bwx  L9    4:9                                                                                                                                                                    


  dxl  dx  Jwbxtd  0hl0d  Jwtn0                                                                                                                                                                                                                                                        


  Yx0  Jwknm  Nyd  0n0  09b  0ynwdqm  hlkbd  0x0  Jwhlkl  0nkh  Jwtn0  Nydb9  P0    4:10                                                                                                                                                          


  Jwrtyttd                                                                                                                                                                                                                                                                                          


  Nyxlp  Jwtywhw  Jwkynr9wsb  Nyn9w  Nyl4  Jwwhtd  Jw=pxttw    4:11                                                                                                                                                                                        


  Jwkndqpd  0nky0  Jwkydy0b                                                                                                                                                                                                                                                            


  Jwqntst  f  $n0  L9w  0yrb  twl  0mks0b  Nyklhm  Jwwhtd    4:12                                                                                                                                                                                              


  0kr4  Ky0  Jwkl  0yrk  0wht  f  Nykmdd  Nyly0  L9d  Yx0  Jw9dtd  Nyd  0n0  0bc    4:13                                                                                                                                                          


  Jwhl  tyl  0rbsd  04n0d                                                                                                                                                                                                                                                                  


  (w4yb  wkmdd  Nyly0l  0hl0  P0  0nkh  Mqw  tym  (w4yd  Nnynmyhm  ryg  J0    4:14                                                                                                                                                                    


  hm9  Fym                                                                                                                                                                                                                                                                                          


  htyt0mb  Nnyrxt4md  Nyly0  Nnxd  Jrmd  htlmb  Jwkl  Nnyrm0  Nyd  0dh    4:15                                                                                                                                                                        


  wkmdd  Nyly0l  <rdn  f  Nnyyxd  Jrmd                                                                                                                                                                                                                                          


  0ym4  Nm  txn  0hl0d  0nrqbw  0k0lm  $yrd  fqbw  0ndqwpb  Jrm  whd  L=m    4:16                                                                                                                                                                    


  Mdqwl  Jwmwqn  0xy4mbd  Fymw                                                                                                                                                                                                                                                      


  0nn9b  0dxk0  Jwhm9  P=xtn  Nnyyxd  Nnyrxt4md  Nyly0  Nnx  Nydyhw    4:17                                                                                                                                                                            


  0whn  Jrm  M9  Nbzlkb  0nkhw  r00b  Jrmd  h9rw0l                                                                                                                                                                                                                        


  Nylh  fmb  dxl  dx  Ny0ybm  Lykh  wwh    4:18                                                                                                                                                                                                                              


  Jwkl  Btkml  Jwtyqyns  f  Yx0  0nd9w  Nyd  0nbz  L9    5:1                                                                                                                                                                                                        


  F0  0nkh  0yllb  0bng  Ky0  Jrmd  hmwyd  Jwtn0  Ny9dy  ty0ryr4  ryg  Jwtn0    5:2                                                                                                                                                                


  fbx  Ky0  0ndb0  Jwhyl9  Mwqn  0yl4nm  Nydyhw  0ny4w  wh  0ml4d  Jwrm0n  dk    5:3                                                                                                                                                              


  Jwdmn  fw  Fn=b  L9                                                                                                                                                                                                                                                                      


  Jwkkrdn  0bng  Ky0  0mwy  whd  0kw4xb  Jwtywh  f  Yx0  Nyd  Jwtn0    5:4                                                                                                                                                                                


  Ynb  fw  0yll  Ynb  Jwtywh  fw  0mmy0  Ynbw  Jwtn0  0rhwn  Ynb  ryg  Jwklk    5:5                                                                                                                                                                


  0kw4x                                                                                                                                                                                                                                                                                                


  Nynwhmw  Nyry9  Nywh  f0  0kr4  Ky0  Lykh  Kmdn  f    5:6                                                                                                                                                                                                        


  Nywr  wh  0yllb  Nywrd  Nyly0w  Nykmd  wh  0yllb  Nykmdd  ryg  Nyly0    5:7                                                                                                                                                                            


  Fwnmyhd  0nyr4  Ny4yblw  Nny9rb  Nyry9  Nywh  Nnx  0mmy0  Ynbd  Nyd  Nnx    5:8                                                                                                                                                                  


  0yxd  0rbsd  Frwns  Mysnw  0bwxdw                                                                                                                                                                                                                                              


  0xy4m  (w4y  Jrmb  0yxd  0nynql  f0  0zgwrl  0hl0  Nms  fd  L=m    5:9                                                                                                                                                                                  


  0xn  hm9  0dxk0  Nnykmd  J0w  Nnyry9  J0d  Nyp0  L9  tymd  wh    5:10                                                                                                                                                                                        


  Jwtydb9  P0d  0nky0  dxl  dx  wnbw  dxl  dx  w0yb  0nh  L=m    5:11                                                                                                                                                                                            


  Nymyqw  Jwkb  Ny0ld  Nyly0l  Ny9dy  Jwtywhd  Yx0  Jwknm  Nyd  Nny9b    5:12                                                                                                                                                                          


  Jwkl  Nyplmw  Jrmb  Jwkyp0b                                                                                                                                                                                                                                                          


  Jwhm9  wnyt40  Jwhdb9  L=mw  0ryty  0bwxb  Jwkl  Nyby4x  wwhd    5:13                                                                                                                                                                                    


  0n9=  wbsw  04pn  Yrw9zl  wbblw  0nlksml  wdr  Yx0  Jwknm  Nyd  Nny9b    5:14                                                                                                                                                                        


  $nlk  twl  Jwkxwr  wrg0w  fyxmd                                                                                                                                                                                                                                                  


  rtb  w=rh  Nbzlkb  f0  (wrpn  F4yb  Plx  F4yb  Jwknm  $n0  0mld  wrhdz0w    5:15                                                                                                                                                              


  $nlk  twlw  0ddx  twl  Fb=                                                                                                                                                                                                                                                            


  Nbzlkb  Nydx  wwh    5:16                                                                                                                                                                                                                                                                


  0wl4  fd  Nylcmw    5:17                                                                                                                                                                                                                                                                


  Jwkb  0xy4m  (w4yb  0hl0d  hnybc  ryg  wnh  Nydwm  wwh  Mdm  Lkbw    5:18                                                                                                                                                                                


  Jwk9dt  f  0xwr    5:19                                                                                                                                                                                                                                                                  


  Jwlst  f  Fwybn    5:20                                                                                                                                                                                                                                                                


  wdwx0  ryp4dw  wqb  Mdmlk    5:21                                                                                                                                                                                                                                                  


  wqwr9  04yb  wbc  Lk  Nmw    5:22                                                                                                                                                                                                                                                    


  Jwk4pnw  Jwkxwr  hlkw  Jwklkl  ty0rymg  Jwk4dqn  0ml4d  0hl0  Nyd  wh    5:23                                                                                                                                                                      


  0xy4m  (w4y  Jrmd  htyt0ml  Ny4r  fd  r=nn  Jwkrgpw                                                                                                                                                                                                                


  db9n  whd  Jwkrqd  Nm  wh  Nmyhm    5:24                                                                                                                                                                                                                                        


  Nyl9  wlc  Yx0    5:25                                                                                                                                                                                                                                                                      


  F4ydq  Fq4wnb  Jwhlk  Nyx0d  0ml4b  wl04    5:26                                                                                                                                                                                                                    


  04ydq  0x0  Jwhlkl  0dh  Frg0  0rqttd  Jrmb  Jwkl  0n0  0mwm    5:27                                                                                                                                                                                      


  Nym0  Jwkm9  0xy4m  (w4y  Jrmd  htwby=    5:28                                                                                                                                                                                                                            


